а.е.м.=1,66·10-27 кг

1 а.е.м. соответствует 931,5 МэВ

        mе = 9,1·10-31 кг = 5,5·10-4 а.е.м.

mр = 1,673·10-27 кг = 1,0073 а.е.м.

 mn = 1,675·10-27 кг = 1,0087 а.е.м. 

Энергия покоя    электрона      0,5 МэВ
                              нейтрона       939,6 МэВ 

                              протона         938,3 МэВ
ядра водорода    11Н      938,3 МэВ                  
ядра дейтерия     21H      1875,6 МэВ  

ядра трития        31H      2809,4 МэВ                

ядра гелия          32Не    2808,4МэВ                

ядра гелия          42Не    3727,4 МэВ                

ядра лития          63Li     5601,5 МэВ                

ядра лития          73Li     6533,8 МэВ 

ядра бериллия     84Ве    7454,9 МэВ 

ядра бериллия     94Ве    8392,8 МэВ
ядра бора           105B      9324,4 МэВ
ядра углерода     126С    11174,9 МэВ               

ядра углерода     136С    12109,5 МэВ 

ядра азота            147N     13040,3 МэВ

ядра кислорода   158О     13971,3 МэВ

ядра кислорода   168О     14895,2 МэВ

ядра кислорода   178О     15830,6 МэВ

ядра неона         2010Ne    18617,7 МэВ

ядра натрия       2311Nа    21409,2 МэВ

ядра натрия       2411Nа    22341,9 МэВ

ядра магния       2412Mg   22335,8 МэВ

ядра алюминия  2713Аl   25126,6 МэВ

ядра кремния     3014Si    27913,4 МэВ

ядра фосфора      3015Р    27917,1 МэВ

ядра урана          23892U   221698,9 МэВ

